Understanding Percentage

Concept Lecture - 1
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Important Basic calculations for Percentage:

How to calculate x% of y:

Unitary method 1 30%o0f420 =126
Basic format 2 40%o0f385= |5Y4
Percentage pyramid 3 22%of 480 =|p5. ¢
5¢ € 4. 53%o0f 720 =3
+58.% 523‘33’” 5 38% of 450 = \?1;’6
646 6. 47% of 240 = ||3 5
3 50-35—;3/553\2 3 7. 45% 0f 1180 = 5‘5,
8 T77%of 840 = 6\162
9. 67% OfJ cJZ, .6

10. 90% of 350 = 3|
[




Relation between Fractions & Percentage:
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Calculate the following:

1. [16.66% of216=éxll6-—-— %6

37.5% of 640 =_gx4§(o=- 240

2y '
" l x_ \oflSO— SO
%Ox—%— 83.33% 0f 144 =20
1 210 x.?: © 566.66% of 270 = )90
" 6.228.56% of 980 = 5 g0
4'3; ,  AeBo T 7. 87.5%of 1280 = |2
Oy— 23 8 62.5%0f 1360 =5 2ko -
b =850

9. 44.44% of 1350 = ¢ o
10.536.36% of 1320 = |gq
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Find X is what Percent of Y:
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Find the percentage equivalent of following fractions:
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Percentage more or less:

¢ 30% more than 250=
T2/ 42% more than 480=

3. 37.5% more than 960= (b4 29
—4) % less than 440= 26
5. than 216= /6 — / b{% = )0
6 less than 1120= &
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Percentage more or Iess (multlplylng factor):
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Calculate the following: 2
1. 16.66% more than 216 =;gm =252

2 37. S%m re than 640 = 8?0
+5/

3. 33. 33% more than 150 = ﬁ%@'—'b?m?
4. 83.33% more than 144 = @6 y

5. 66.66% more than 270 = g,

6. 28 56% less than 980 = 70‘0

7. 87?5% less than 1280 = 1\%0 ~16o
8 62. 5%l sthan 1360 =

9. 44. 44%%.93 than 1350 3//% go_b =Sto

10. 36.36% less than 1320 = gy
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